
Name:_________________________ Date:___________________

Rewrite vertically and solve.

115 + 482 =

Rewrite vertically and solve.

741 – 720 =

Rewrite vertically and solve.

37 × 28 =

Rewrite vertically and solve.

2,202 ÷ 4 =

Find the sum.

1
3

1
3+ =

 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - 
-

Name:_________________________ Date:___________________

Rewrite vertically and solve.

270 + 131 =

Rewrite vertically and solve.

742 – 488 =

Rewrite vertically and solve.

98 × 37 =

Rewrite vertically and solve.

9,300 ÷ 8 =

Find the difference.
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6– =
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